Find the following for f(z) = 48z ( (1f they exist; if they don’t exist,

T—1.
state so}. Use this information to graph J&

e ) = S ) =y
[1.5] 1a.) critical numbers: 3 y T 1_) -
g
{1.5] 1b.) relative maximum(s) occur at z = — l
[1.5] 1c.) relative minimum(s) occur at = = 3 ‘@
(1.5] 1d.) The absolute maximum of f on the interval [0, 5] n and occurs

at x =

[1.5] 1e.} The absolute minimum of f on the interval [0, 5] On and occurs
—at & =

[1.5} 1f.) Inflection point(s) occur at z = /7 O 7l “e
[1.5] 1g.) f increasing on the intervals C = 'HZ) v («2 ¢>O)

[1.5] 1h.) f decreasing on the intervals ( I / ) v C 3) )

[1.5] 1i.) f is concave up on the intervals m ( IJ
[1.5] 1j.) f is concave down on the intervals % (—“

[1.5] 1k.) Equation(s) of vertical asymptote(s) ~
[4] 11.) Equation(s) of %ﬁal and/or slant asymptote(s) 0"[ = X * 7 |
[4.5] 1m.) Graph f |
N\ | i) = e
-a "~ lm ( X/ | ) .
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Find the following for f{z) = z?_,;"

g (if they exist; if they don’t exist
@\ ey exist; if they don’t exist, [\,

state so0). Use this information to grap

E 2
Note f'(z) = ﬁ?, [Hz) = S(ff.ﬁ)

-@/ [1.5] 1a.) critical numbers: O Y. /2 /
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g ,p { [1.5] 1b.) relative maximum(s) occur at z = O
ﬂ i fl [1.5] 1c.) relative minimum(s) occur at x = n o, rne ‘J/ o
[1.5] 1d.) The absolute maximum of f on the interval [0, 5] is non and occurs

at z =
} of

[1.5] le.) The absolute minimum of f on the interval [0, 5] is and occurs

Q Ii [1.5] 1f.) Inflection point(s) occur at & = h 0 M e,

’F[ [1.5] 1g.) f increasing on the intervals (“" C70) #2') vV (-2/ 0)
.C{ [1.5) 1h.) f decreasing on the intervals (O,J 2) v (7“ ) 0‘0)

tr=

e

% {f [1.5] 1i.) f is concave up on the intervals (:,,aa} “’2-») v CM’?
(-2, 2*;)

[1.5] 1k.} Equation(s) of vertical asymptote(s) )( — 2‘/} X = "'",Z-

? 5{[1.5] 1.} f is concave down on the intervals

[4] 11.) Equation(s) of horizontal and /or slant asymptote(s) Gy = /’ |
[4.5] 1m.) Graph f
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:" A [ [1.5] 1c.) relative minimum(s) occur at z =

gg/T ﬁ 57\/’2[ 3[

Find the following for f(z) = = bz? — 3 (if they exist; if they don’t exist, state so).

Use this information to graph I N — <
o 2 f£=olve

[ [ [1.5] 1a.) critical numbers:

[1.5] 1d.) The absolute maximum of f on the interval [0, 5] is yand oceurs

at x =

[ 4 ,fr [1.5] 1b.) relative maximum(s) occur at © = _

[1.5] 1e.) The absolute minimum of f on the interval [0, 5] is 0 and occurs
at z = )
! "4

" -/
“ [1.5] 1f.) Inflection point(s) occur at z =

O<X¢Q"

’(‘f [1.5] 1g.) f increasing on the intervals [ o 2’>

| vz = $y<0°r
g )-03/) = X7 =

’é f [1.5] 1h.) f decreasing on the intervals

" . ) [ is concave up on the 1ntervals

f' ) f is concave down on the intervals } 8) v ( 0 )

[1.5] \&.) Equation(s) of vertical asymptote(s) h o/ 'e

non€. o

[4] 11.) \Wuation(s) of horizontal and /or slant asymptote(s)
[4.5] 1m. SQaph f
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